YN MNS

(TUnN) NPVNNNI (NPVNIINN) NITN
929N 193 971

PRIN 90N A WDV NPPVNINNY (NPLLINND) NITN MMRNN DY TYHN NI DT INRD
2

NPT LYY’ NP PINSI SO 1P 1IN TMIMTIN WO PODN 1912 P NN NTHN
DNINNI VIPNY TD DT DYNIN DMLY DIPH NPYTAT 1N .7DMVID DIPH
FITNN DN .NANY HP NN IR, TR IRD ITHD PIND .1O5ON 7PYAN PIND 2230
DYPON 2-5 N NPIYNH MYNNNA 9x12 1291 29970 v 1x8 NNNI 10x10 1120
TN DY TH WIND DNADIM

10x10

9x12

1x8

L ]

PIIN DIPHNN HIYHRN PIN DX XINND I1P2Y ,DNN»H DMLY OIPND NWID 21D
.D»VY9N DIPNY

oY . (10-1)x(1042) PIYTNVY 12010 N0 D8 1x8=1x(10-2) IMSN 10x10 ¥12>9N
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PIPHY 1259 23PN 1x0=1x(2-2) NN NN NIYININ IX 2X2 NN NI DN P

Ax4=(2-1)x(2+2)

PMTHY 1250 DaP 1x1=1x(3-2) NPNZ NS NNIIN IN 3x3 PN Y1297 DX

12000 MPN
1x4
2x5

(

(

4-1 ~3x6
5-1
(6-1
7-1
8-1

)X(4+2)=

)x(5+2)=4x7

)X(6+2)=5x8
(7-1)x(7+2)=6x9
(8-1)x(8+2)=7x10
1)x(9+2)=8x11
1

(9-
(10-1)x(10+2)=9x12

.2x5=(3-1)x(3+2)

D PNONNN 29 DY NHAO NN

IS MPN
1x0
1x1
X(4-2)=1x2
x(5-2)=1x3
X(6-2)=1x4

1x(7-2)=1x5
X(8-2)=1x6
X(9-2)=1x7
x(10-2)=1x8

N MPN
2x2
3x3
4x4
5x5
6x6
7x7
8x8
9x9
10x10

PNIPNHY DS MXM PDITNY Y1229 D :DPIOND NN DIIINYNI NOND

AM-1)x(M+2) PMTHY 1200 NYD ¥ 1x(m-2)

PNYN DMPNN 121D D TIY 20 DY)

(M-1)x(m+2)=m?+m-2=mxm+1x(m-2)

1201

MM PINXH

DYTYS OV MON JOP 90N TIN IWKRD 00 KIN DMVIS DMIPN NPT DY 1IN
;9701 %9 DY MPYTAN DX DNNI AN»D NIPNY YN DN

1x4

=

2x5

1x1

N
2x2
o
3x3

2x5 12599 ¥3Y »15,2 N3N MM (3x3 MDD TINI) NY DANN T30 20 DIV
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3x6

4x4

1x2

:D2PY,NMYT 19N V123D 2ONN NX YNNI DN

5x5

1x3

!
I
l
—

IWON ON JMIN ,MPYI MSAVN 4 19M) 19 93 ,7NN007 MNAVNH DNNX D ,7ann
SINNN NN DYDY D98 12 NIPNY NN . 1x3 NYISINT MYSNNI MO

NMYAY N 1x2 1290 227 I (N23I XON) T, THNN MIPYA 25,735 03 22 DOV
T, TNNN DX Y32 DRDWAN TH23 INYND DX 1PN2 0TI . 1x3 NI NI

4x7

5x5

1x3

TMADNIAN TNNN NN Y82 531 P90V NN DX 923 1INSN DN
A0 7PN HON
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5x8 X3

A 6x6
Y
C IF IG
B
1x4 |
I X I

J

NYINY INNRD D) NP PYNIY DXAMN 1PN ,EX6 1) DY NIPHNIA D ,NXI 20 DY)
C-215Y 1N, DINNN DIPN PIN2 Y1, 1x4 NN MMV NTOWY INNINY ZWwd ,C-2
NS DPN DX 1IN CO DTN NN N8P OOINN D

NN DX NN 1T YD

CDEF 100 .(8=6+2) M%7 NN Y)Y »12 °N19N (Mawn) 2 >T1na ABC 7N .N
190 75 (2 9T0A) FGH nys . ABC > Dy ninani Dpni DX XON2 215 X091 (2 51n1)
125972 73,901 DN .6+2=8 5 310 »T3 (2 >TNnN1) HIJ DYON .1x4 NN DIPn NN
NN DYDY D130 (D DWIN IR X POoN DY Y PON DWW AONNY NN DOYSIN DN
:N2D 19N DYPONI MY D¥ MITON

2 4 ﬂz 4 6 Y pon

/ / 4 / / YNNI
S T X pSn
8 8 8 8 8 (Y+X pSN) 930 10

DI DMYSNNRIY 1X5 IMSN 7x7 $12>I OV DIPNI MITON DX DIWID HNY NON
6x9 yadn D3pd
2 4 6 3 5 7 Y Pon
7 Py !
/ / y ZS NN
770 5 3% ¢ 45 o X 5N
9 9 9 9 9 9 (Y+X pon) 950 10
NN 8X8 1YY DY 1PN TIY DIV .WITID DN DIINNN DIBN D NN IVON
1x6
Y pon

2 4 6 2
~ 4 6 8
/ / / \/6 / / NN
8 0 4 2 6 4 2

X pon

MITO HNY (1) 6x6 , 8x8) MIT 190N 11 2N MTNHY NIPNI 2, NN 3D DWW v
INNOYD PO VN NN PO OXNDYN KIPI DHXD DX .POIYND MY DXpPONN
MY SNNPWD PN IXIPAYY PON MNAY PD HNDYN INMIPAI 2462468 mnTd)

X pon
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{X PYNS ©NNI DRY PIPYSNRD? HTINYI PI MITAI MITON SNV MR NIPHI
11x8 NN 10x10 DV NIPHI MHTON 1D WX

2 4 6 8 2 4 6 8 10 Y an
/\
/ / / / {8 / / / / NN
10 8 6 4 2 8 6 4 2 X P5Nn
9x12 DOWINN
10x10
B | Y

I TTTETTY X |

:TNTON 10,2003 NINSA DIMINYNIVY OND

12010 9aPY 1 x (2m-2) NN 2m X 2m NN IV, n=2m NN NN 1
(2m-1) x (2m+2)

2 4 ... 2m-2 2 .. 2m-2 2m Y pon

/ / / omd S / NN
2m 2m-2 ... 4 2v 4 2 X pon
2m+2 2m+2 ... 2m+2 2m+2  2m+2 ... 2m+2 (X+Y pon) o5n 10

2ap2 1 x (2m-1) INSN (2m+1) X (2m+1) 12 MDD, n=2m+1 AN XD NWPHNN 2
2m x (2m+3) a5

2 4 ... 2m-2 3 5 ... 2m-1 2m+1 Y pon

/ f f 2m-17‘ / f / VIS
2m+1 2m-1 .. 5 1\Z 2m-2 .. 4 2 X pon
2m+3 2m+3 2m+3 2m+3 2m+3 2m+3 25N o
Y+X pon
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